[0 00000 000 Jinternalenergy-qa090113.tex

00000 100000000000 (A,V)O00O (R,V,) 0000000000000

000000000 AUD
PVy — PV

v—1
00000000000 00000y>1)DO00000000oo

AU = (1)

(0oo)
000000000000000000000000 QDOO00000000wWOO
000000000000 AUOO0O0O0O000O

AU=Q—-W (2)
00000000010000000000000
PV =RT (R:0000) (3)

gboogobbboudooouooggboobbobuoooolibbooooaoboboon
00 C,000
U = C,T + constant (4)

ooooooooooooboooooobobo c,oooobooo c,oooooooooon
Oo000)ooooo
C,—C, =R. (5)

O04000000000000 ATO0000000O00O00000
AU = C,AT (6)
0000000000000000000000000 7,7,0000003)00000

PVi = RTy, (7)
PV, = RT (8)

0000000 0AT=T,-T/O0OooOOoooooobooooooos00bbe0nond
gdo

BV, — PV,

R
&

6,—c)!
PV; - PV,
y-1

AU = (,

PVy — V)

gogbuabogooo



